Half-Yearly Examination 2020
Class — 6
Time: 3.00 hr. Subject: English 1% Paper Full Marks:100

Part- A : Reading Test (Marks 40)

Read the text and answer the question 1.

Once, a lion was sitting beside a river. Suddenly he looked at his own reflection and thought “My mane
is too old. I need a new hairstyle!” The lion then roared “I’m the king of the jungle and this unruly mane does
not fit a king!”” He dipped his paw into the river and tried desperately to smooth his mane. “Flap it all up. That
will suit you!” the zebra said. “Yes, it will even look better with a bit of colour to match your moustache,” the
giraffe added. “What about a few ribbons?”’ the vulture asked. Then cried the hyena “I know, a paper crown
is what you need!” A snake was passing by silently. Seeing the King there he simply raised his head. “What
do you think I should do, snake? The king asked. “If a king is a wise King, nobody cares about his hairstyle,
“The snake said with a hissing sound. The king stared at the snake for some time. Then he smiled and kissed
the snake. “Oh, why am I so vain? Am I not the king of the jungle?” roared the lion. He shook his head from
side to side to shake his mane back into place. “From now on I promise to be a wise king and not bother about
my looks!” the lion roared.

1. Now choose the correct answer to each question from the alternatives given and write the
corresponding number of the answers in your answer script.
0.5x10=5
Q) Once, a lion was sitting beside a river. Here the word ‘beside’ is similar to
(a) next to (b) closeto  (c) near at (d) back to
(i) A snake was passing by silently. The term ‘passing by’ means
(@) running  (b) dying (c) going (d) thinking
(iii)  The lion was dissatisfied with his

(a) mane (b) tail (c) reflection (d) shadow
(iv) A snake was passing by silently. Which of the following words has opposite meaning to
‘silently’?
(@) meekly  (b) quickly  (c) loudly (d) timely
(V) The giraffe advised the lion to its mane.
(@) flap (b) cut (c) shake (d) dye
(vi)  Once, a lion was sitting beside a river. Here the word ‘beside’ is a
(@) noun (b) verb (c) preposition (d) conjunction
(vii)  The lion had a about his mane?
(@) pride (b) dissatisfaction (c) satisfaction (d) happiness
(viii) The king stared at the snake for some time. Here the word ‘stare’ means
(@) look (b) listen (c) gaze (d) hear

(ixX)  Suddenly he looked at his own reflection and thought “My mane is too old. Here the word
‘reflection” means
(a) prestige  (b) approval (c) image (d) appearance

(X)  Who advised the lion first about his name?
(a) giraffe (b) hyena (c) vulture (d) zebra

Read the text and answer the question 2.

Bangladesh is a small country but it is gifted with unlimited natural attractions. Only some of these
eye-catching destinations are known to us. But there are many other areas lying in the green, remote
countryside that are less-known to us. Shusong Durgapur of Birishiri is one such place. Shusong Durgapur
has an amazing landscape. It is located on the bank of crystal clear Someshwari river and is close to the Garo
hills. You can see the hills of Indian state of Meghalayas from here. The nature has unfolded its glory in this
small, rural landscape. Here you can see the ceramic mountain leaning against the sky, the blue water of the
pictorial mountain-valley, the modest movement of the river Someshwari, and the abandoned coal mines.
There is another river here called Kangsa which is also known as old Someshwari. Susong Durgapur is located
under Netrokona district about 170 km north from Dhaka. It’s not only blessed with alluring natural beauty,
but also rich in vibrant ethnic culture. There are many ethnic groups like- Hajong, Garo, Achik and Mandi
living here. The Birishiri Tribal Cultural Academy is located at Durgapur. It is a centre for various cultural
and educational activities of different tribes. The main attraction of Birishiri is the ceramic hill of Durgapur



and the charming landscape along the Shomeshwari River. The river changes its colour as the seasons change.
Among other attractions are the palace of the Susang King, the Dasha Busha Temple, Orange Gardens, Shal
forests and the Ramkrishna and Loknath Baba Temples. The best way to get to Birishiri is by road from Dhaka.
You can find direct bus to Birishiri from Mohakhali bus stand, Dhaka. It usually takes 5 to 6 hours to get there.
When you are there, you can go around the town by rickshaws. The rickshaw pullers know all the places very
well.

2. Give answers to the following questions.

2x5=10

@ How can one go to Birishiri?

(b) What natural beauty a tourist can find in this landscape?

(© What is the uniqueness of the Someshwari River?

(d) Name some ethnic groups living at Susong Durgapur.

(e) What is the main attraction of Birishiri?

3. Read the text and answer the following questions.

The first World Cup Cricket Tournament was held in England in 1975. The West Indies won the
trophy. The 2" and the 3™ Tournament were also held in England in 1979 and 1983 respectively. In 1987
Pakistan and India were the host countries. In 1992, Pakistan won the trophy from Australia and New Zealand.
The first Asian Test Final Match was held in 1999 in Bangladesh. Bangladesh championed in ICC 1997 in
Malaysia. The World Cup Tournament of 2003 was held in South Africa in which Australia became
Champion. Mini World Cup competition was held in Bangladesh in 1998. In 1996 Pakistan, India and Srilanka
jointly arranged a tournament and Srilanka won the trophy. The latest news for circket is that Bangladesh has
got Test status in ICC, on 26" June 2000. So, Bangladesh is now the 10" Test playing country. Bangladesh as
a Test playing country can participate in every World Cup Cricket.

A. Complete the following table with the information given in the passage :-

1x5=5

Who/What Events Place/Where When

Q) winner at the first two World | England 1975 & 1979
Cup.

Pakistan won the 5" World Cup Australia & New (i)

Zealand

(iii) ICC Champion Malaysia 1997

8" World Cup | (vi) South Africa 2003

Tournament

India won world cup for the first (v) 1983
time

Read the text and answer the following questions.

Nazrul was born on 24 May, 1899 in the village of Churulia in Burdwan, West Bengal. His father,
Kazi Fakir Ahamad, was the imam of a mosque and the caretaker of a mausoleum. After his father’s death in
1908, Nazrul took up his father’s job of a caretaker and also served as Muazzin of the mosque to support his
family. In 1910 Nazrul returned to school. He studied for some time at the Raniganj Searsole Raj School and
then at Mathurn High English School. Unfortunately, Nazrul again had to leave school for financial reason.
While working at a tea stall, Nazrul became acquainted with Rafizullah, a police inspector of Asansol who
succeeded in persuading the young man to return to school. In 1914 Nazrul got admitted to class VII of
Darirampur School at Trishal in Mymensingh. A year later he returned to his own village and got admitted to
class VIII of Raniganj Searsole Raj School. Here he continued his studies up to class X. However, he did not
sit for the pre-test that would have qualified him to sit for the Entrance Examination. Instead, towards the end
of 1917, he joined the army.
B. Now read the following statements. Write (T) in your answer script if the statement is true. Write (F)
if the statement is false. If false, write the correct answer.
1x5=5

@ Both Nazrul and his father took care of a mausoleum.

(b) Nazrul took the responsibility of earning livelihood after his father had died.

(© Nazrul was born in a solvent family.

(d) Rafizullah made Nazrul leave school.

(e He joined the army without sitting for the entrance examination.



4. Read the text below and complete it with suitable words given in the box.

0.5x10=5

moulds is in in you

throughout the of life of
Youth is the best time of (a) . This is the time when it (b) most important for one to remember
(c) maxim “As you sow, so shall (d) reap.” He must sow the seeds (¢) industry,
truthfulness, honesty and other virtues (f) this season to reap the harvest (g) prosperity and
happiness. Whatever takes root (h) a man at this time lasts (i) the rest of his life and (j)
his future.

5. Match the parts of sentences given in column ‘A’ and column ‘B’ to write five complete sentences.
1x5=5

Column A Column B
(i) Paper is the most (a) the word papyrus.
(i) It was first (b) parcel of modern life.
(iii) It was named from (c) useful gift of human skill.
(iv) It is the part and (d) education and culture.
(v) It helps to spread (e) invented in China.

6. Rearrange the following sentences in correct order in your answer script. You do not need to reproduce the
sentences in your script. Only the corresponding numbers of the sentences need to be written.
1x10=10
@ One said, “T have lost my husband”.
(b) A poor woman once came to Buddha.
(© The sorrowful mother went from door to door seeking the mustard seeds but at every door
she met with sad replies.
(d) She returned with heavy heart to the great teacher and told him the result of her great search.
(e) He told her that there was only one medicine which could revive her son.
()] Another said, “Our youngest child dies last year.”
(9) Then Buddha told her affectionately that she must not think much of her own grief since
sorrow and death are common to all.
(h) The holy man was touched by the great sorrow of the woman.
Q) She asked him whether he could give her any medicine to restore her dead child to life.
() He told her to bring a handful of mustard seeds from a house where death had never entered.

Section- B : Writing Test (Marks 40)

7. Read the opening of a story below and complete it in 10 sentences. 10
Once there was a hare. He was very proud of his speed. One day he was going back to his house. A
tortoise was also going without disturbing the hare. Suddenly ............

8. Write a letter to your younger brother telling him about the importance of reading newspaper. 10

9. Write a dialogue between you and your friend about the benefits of early rising. 10

10. Write a paragraph on “A Mobile Phone”. 10

Section- C : Radiant Reading

11. Write the meanings of the following words. (Any 5)
1x5=5
Tunic; Sleek; Exchange; Trembling; Borak; Pen; Grazed; Intention.

12. Answer the questions below. (Any 5)

2x5=10

How did the mother of Dasu die?

Why did the other sheep dog fear Lala?

Why was Hatu Kutu awakened at midnight?
What did the boy do when he saw a giant paw?
How was the wall made?

About what suspicion did Dasu realize at first?
What did Hatu Kutu do hearing the sudden noise?
How did Dasu attack the tiger?
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1). Complete the following paragraph with the appropriate articles:
1x10=10
My father is (i) fisherman and we live in (ii) coastal area. Every day my father goes to (iii) sea
with some other fishermen. Sometimes they go early in ___ (iv) morning and come back at late night. Sometimes they
do not return (v) couple of days. (vi) most joyful moment in our life is when we hear (vii)
voice of our father at (viii) end of (ix) day. Often he comes back with some fresh fishes for us. We pass
time in anxiety when () kalboishakhi comes.

2). Read the following text and fill in the gaps with possessive adjectives:

1x5=5
father came to this city forty years ago. He was quite a young man then. dream was to run a business
here in this small town and live happily. difficult now to understand how small this city was forty years ago.
I can’t imagine beauty either. father bought all his family members in a rented house.

3). Read the following text and fill in the gaps using participle. Pick the suitable words from the box below:
1x5=5

| run | Love | Fly | Shine | Look |

Raja has a singing parrot. It’s a nice bird. His uncle brought this bird from his village. Now the bird lives in a
cage. Everyday Raja feeds the bird and looks after him. Raja feels very good when the bird sings. Sometimes

Raja takes the bird under water to bathe him. Raja loves the bird but he doesn’t like seeing birds in the cage.

Raja likes free birds. But due to his uncle he can’t do anything. Raja has decided to discuss the

matter with his uncle.

4). Change the following into the future tense. Change words like today and yesterday into tomorrow or next
week, where necessary:
1x5=5
a). The students learn science from him.
b). Wayne is eleven years old today.
c). Mr. Green drives the car to London.
d). I am fifteen years old today.
e). They stayed with us last Christmas.

5). Rewrite the following sentences using (be) going to instead of will:
1x5=5

a). My father will buy me a bicycle for my birthday.

b). They will leave Trinidad tomorrow.

C). If I see him again, I’ll recognize him.

d). Won’t you have one of these cakes?

e). Will Mark and Richard play with us tomorrow?

6). Change the subjects of the following sentences from 1% person (I, we) to the 3™ person subjects given in
brackets:
a). I won’t be feeling excited. (The others).
1x5=5
b). We won’t be getting into the car. (The others).
C). I’ll be walking to school. (Henry)
d). We’ll be having dinner on the train. (John and his father).
e). I’ll be thinking about you. (John)




7). Rewrite the following sentences putting the verbs that are in brackets into the future perfect tense:

1x5=5
a). Before his next visit he (be) to Jamaica.
b). We (leave) the house before you get back.
c). | hope it (stop) raining before we have to go.
d). At Christmas, Mr. Chung (teach) here for fifteen years.
e). By half-past seven we (have) supper.

8). Write down the following sentences and identify whether it is a statement, a guestion, a command or a request.

Put a question mark (?) where necessary in your answer:
1X5=5

a). | promise not to make a noise.

b). Will you be there at five o’clock.

¢). Write your name here, please.

d). Have you taken those books away.

e). Write these sentences out carefully.

9). Fill the blanks in the following sentences. A list of the missing words is given below:
1x5=5

| solid | summer | night | dwarf | float | Glass

a). As sun is to day so is moon to

b). As table is to wood so is window to
c). As water is to liquid so is iron to
d). As stone is to sink so is cork to

e). As cold is to heat so is winter to

10). Fill in the blanks from the list below:
1x5=5

| revel | damaged | problem | repaired | scrupulously

a). When the damage is put to right, it is

b). When a thing is injured or spoilt, we say it is .

c). When we are very careful, we are careful.

d). When we take a keen delight in something, we are said to init.
e). This sum is very puzzling; it is a

11). Fit these words into the following sentences:

1x5=5
| Wood | Double-bass | bow | Cello | Fiddle
a). A violin is sometimes called a .
b). The instrument is made of and is hollow.

c). In the right hand, the player holds the
d). There are two other musical instruments shaped Ilke the violin but larger. The middle-sized one is called a
and the largest a

12). Write out the following sentences putting on the adjectives in place of the words in italics:
1x5=5

| greedy | rich | unhappy | Truthful | Amiable

a). We all like the girl who tries to please.

b). Once upon a time there was a boy who never told a lie.
c). A child who is miserable should be treated kindly.

d). A man who has much money should give generously.
e). Boys who eat too much often fall ill.

13). Write any one of the following paragraphs: 1x10=10
How to keep fit or Our school library




14). Write any 1 of the following formal letter / Application. 1x10=10
Write an application to the Principal of your school for setting up a computer club.

OR
Write an application to the Principal of your school to play a friendly football batch.

15). Write any 1 of the following compositions. 1x15=15
Value of time OR Your village
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